Questions 1 & 2

BARVEMBERE

A football costs €6 Two boxes contain the same
2 footballs and pair of socks amount of counters.
cost £20 + Half of the counters

from box A are put -
@ @ into box B.
+ There are now 72 counters

How much does the pair of in box B.
socks cost? How many counters were in box
A at the start?
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Questions 3 & 4

BARVEMBERE

E Leon cycles the same distance n The 2~ term of a sequence is 5 more
each day. than the ' term.

The 3rd term is the sum of the first 2
He cycles 272 km in
oyt terms.
vs: The 4t term Is the sum of the 2 and
How far does he 3rd terms.

The sum of the first 4 terms is 237
What is the 37 term of the sequence?

cycle in 7 days?
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Answer for Question 1 & 2 (Challenge) Question 5
1 ENENEE EITITN CARVEMBERS  Jiots
ne
b b socks E Natalie has some red and white
I roses.
£20 £8 - 801 of the roses Natalie has are
T hite.
Pair of socks costs = 20-2x6 = 8 socks v
- Natalie buys 76 more white roses
mstart Box A Box B Box A= 2xj72/3 =48 and 48 more red roses.
? ‘ ‘ 4 8 - 751 of the roses Natalie has are
T now white.
A->B A Box B Box A | | How many roses did Natalie have in
72 at start total at the start?
ooMa : agica
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Answer for Question 3 Power Maths Bonus Question
J Here are some pots of marbles
] a6 EXD P
272 km P
Con you make up
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How many more marbles are there in the Green
3ra 2 237 3rd a gmen@mn inthe red (] now? Red
erm
4Ih
7 box+20 =237;|box=31; 3™ term=2xbox+5=67
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Play A 3 gdo e on Alexa p://bit.do/AlexaA

Essence of chooMantra

This is a single or
multiplayer Animal
Kingdom Quiz game by
@RajeevGM.

Play Animal Kingdom
Game and learn about
animals, its sounds,
collectives, young ones,
etc.

Animal Kingdom Game
by RajeevGM

Free to Enable

Answer 5
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start 3 40
28 2 ° | flowers
after at start
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4 box+76 =3 X (box + 48); box=68;
Total|roses at start =5xbox=5X68=34(

Answer to Power Maths Bonus Question
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Purple|pot is empty. All pots share so thal: they all haveT equal
amount of marbles. How many marbles in each pot?
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=(17+42+424+3]7)/5=24

Instructions to
Enable and use Alexa Skill

Enable Skill

In Alexa app menu, select Skills.
Search “Animal Kingdom Game
RajeevGM?”. Click on the skill
displayed and click on “Enable
Skill”.

Use Skill

After enabling the skill,
switch on Alexa enabled
device. Once ready say
"Alexa, Launch Animal
Kingdom Game'
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